. ‘ AT & 5
X E 7940V E HE Py " B4
Al0|2]0]| 2 |F B RO3 3 4F | R06.12.31 | BEFE |KJFFEF+E| R03.01.01 | R04.01.01 | #K
AlOf2|0]2 |5tz RO4 34| RO7.12.31 | BEIE |KJFE+E| R04.01.01 | R05.01.01 [ %
Al0|2]0]| 2 |F B R05 3 4F | R08.12.31 | BEFE |KJFEF+E| R05.01.01 | R06.01.01 | #K
Al[0]2]0]4|FH5H*EAMRE R05 1 A | R06.12.31 | BEIFE [KJFF+E| R05.01.01 [ R06.01.01 | &
Al0| 2| 1|5 |3CERES-BE# RO1 54 [ R06.12.31 | BFEZE [WJFE=F+vE| H31.01.01 [ R02.01.01 [ #K
AlO0]| 2| 1|5 |CEREE -BEE R02 54F | RO7.12.31 | BEZE |KJFE*+rt| R02.01.01 | R03.01.01 | #&
Al0| 2| 1|5 |3CERES-BE# RO3 54 [ R08.12.31 | BFEFE [WJFEF+vE|[ R03.01.01 [ R04.01.01 [ #K
AlO0]| 2| 1|5 |CEREE -BEE RO4 54F | R09.12.31 | BEZE |WKJFEx+rE| R04.01.01 | R05.01.01 | #&
Al0| 2| 1|5 |3CERES-BE# RO5 54 [ R10.12.31 | BEZE [WJFE=F+rE| R05.01.01 [ R06.01.01 [ #K
Al 12|02 |k wwonpmzs 4R BEIE | HE
Al2[0]0] 1| A2 sl s 6% HO04 30 45 | R13.12.31 | BE#E |+ H14.01.01 [ %
Al2]10(0]| 1| g5 SBhim HO05 30 45 | R13.12.31 | B |KJErE H14.01.01 [ #&
Al2[0]0] 1| A2 sl s 6% HO8 30 45 | R13.12.31 | B3 |+ H14.01.01 | %
Al2]10(0]| 1| g5 SBhim H12 30 45 | R13.12.31 | B |KJErE H14.01.01 [ #&
Al2[0]0] 1| A2 sl s 6% H13 30 45 | R13.12.31 | B3 |+ H14.01.01 | %
Al2]10(0]| 1| g5 SBhim H14 30 45 | R14.12.31 | BEZE |KJExvE H15.01.01 [ #&
Al2[0]0] 1| A2 shim s 6% H15 30 4 | R15.12.31 | BEZE |KJEFvE H16.01.01 [ #&
A[2]10(0] 1| A5 EhimanE H16 30 45 | R16.12.31 | BEZHE |KJEvE H17.01.01 [ %
Al2[0]0] 1| A2 shim s 6% H17 30 4 | R17.12.31 | BEZE |KJEFvE H18.01.01 [ #&
A[2]10(0] 1| A5 ShimanE H18 30 45 | R18.12.31 | B |KJE~vE H19.01.01 [ %




A[2]10(0]| 1| A= 2EmhimanE H19 30 4F | R19.12.31 | BEFE |RJErE H20.01.01 [ %
Al2(0]0] 1| AR B ER H20 30 4F | R20.12.31 | BEIE |RJHFrE H21.01.01 | %
A[2]10(0]| 1| A= 2EmhimanE H21 30 4F | R21.12.31 | BESE |RJErE H22.01.01 [ %
Al2(0]0] 1| AR B ER H22 30 4F | R22.12.31 | BEZE |RJFF~rE H23.01.01 | %
A[2]10(0]| 1| A= 2EmhimanE H23 30 45 | R23.12.31 | BESE |+ H24.01.01 | %
A[2]10(0] 1| A= SEhim H24 30 4 | R24.12.31 | BEFE |KFHF+vE| H24.01.01 [ H25.01.01 | #K
Al2[0]0] 1| A s s Eh H25 30 4% | R25.12.31 | BEZE | +vE| H25.01.01 [ H26.01.01 [ &
A[2]10(0] 1| A g5 SEhim i H26 30 4 | R26.12.31 | BEFE |KJHF+vE| H26.01.01 [ H27.01.01 | #K
Al2[0]0] 1| A s s Eh H27 30 4 | R27.12.31 | BEZE |G +vE| H27.01.01 [ H28.01.01 [ &
A[2]10(0] 1| A g5 SEhim i H28 30 4 | R28.12.31 | BEFE |KJHF+vE| H28.01.01 [ H29.01.01 | #K
Al2[0]0] 1| A s s Eh H29 30 4% [ R29.12.31 | BEZE |G +vE| H29.01.01 [ H30.01.01 [ &
A[2]10(0] 1| A g5 SEhim i H30 30 4 [ R30.12.31 | BEFE |KJHF+vE| H30.01.01 [ H31.01.01 | #K
Al2[0]0] 1| A2 sl s 6% RO1 30 4 [ R31.12.31 | BEZE | +vE| H31.01.01 [ RO2.01.01 | #K
Al2]10(0]| 1| g5 SBhim R02 30 4 | R32.12.31 | BEHE |KJEF-rE| R02.01.01 | R03.01.01 | #K
Al2[0]0] 1| A2 sl s 6% RO3 30 4 [ R33.12.31 | BEHE | +vE| R03.01.01 [ R04.01.01 | #K
Al2]10(0]| 1| g5 SBhim RO4 30 4 | R34.12.31 | BEHE |KJEF L[ R04.01.01 | R05.01.01 | #K
Al2[0]0] 1| A2 sl s 6% R05 30 4 [ R35.12.31 | BEHE | +vE| R05.01.01 [ R06.01.01 | #K
Al210]0|2|EfEERE HO1 30 4F | R13.12.31 | BEZE |WJExvE H14.01.01 | &
Al210]0|2|mEEfRERE HO03 30 4F | R13.12.31 | BEZE |KJFESxvE H14.01.01 | &
Al2]0|0]|2|EtEERE HO4 30 4F | R13.12.31 | B |+ H14.01.01 [ %
Al210]0|2|mEEfRERE HO06 30 4F | R13.12.31 | BEZE |KJFESxvE H14.01.01 | &
Al2]0|0]|2|EiEERHE HO8 30 4F | R13.12.31 | B |+ H14.01.01 [ %
Al2]0|0|2|EEER H12 30 4 | R13.12.31 | BEZE |KJEFvE H14.01.01 [ %
Al2]0(0]|2|EtEERHE H16 30 4F | R16.12.31 | BEFE |G+ E H17.01.01 [ %




Al2]0|0|2|ElEERE H17 30 4F | R17.12.31 | BESE | RS+ H18.01.01 [ %
Al210]|0]| 2 |0EsEEHE H18 30 45 | R18.12.31 | BEIE |RJFF~rE H19.01.01 | %
Al2]0|0]2|mEiseiE H22 30 47 [ R22.12.31 | BEFE |RJFEF¥+E H23.01.01 | #%
Al210]|0]| 2 |0EsEEHE H23 30 4F | R23.12.31 | BEIE |RJHFrE H24.01.01 | %
Al2]0|0|2|ElEERE H24 30 4F | R24.12.31 | BESE || H24.01.01 | H25.01.01 | #%
Al210]|0]| 2 |0EsEEHE H25 30 4 | R25.12.31 | BEZE | +E| H25.01.01 [ H26.01.01 | #%
Al2(0|0]|2|EfEEE H26 30 4 | R26.12.31 | BEZE |KEF+vE| H26.01.01 [ H27.01.01 [ &
Al2(0|0]2|nEfEEHE H27 30 45 | R27.12.31 | BEFE |KJErE| H27.01.01 | H28.01.01 | #&
Al2(0|0]|2|EfEEE H28 30 4 [ R28.12.31 | BEZE | +vE| H28.01.01 [ H29.01.01 [ &
Al2(0|0]2|nEfEEHE H29 30 A5 | R29.12.31 | BEHE |KJErE| H29.01.01 | H30.01.01 | #&
Al2(0|0]|2|EfEEE H30 30 4 [ R30.12.31 | BEFE | +vE| H30.01.01 [ H31.01.01 [ K
Al2]0|0]|2|EEERE RO1 30 4F [ R31.12.31 | BEZFE |KJFEF+E| H31.01.01 [ R02.01.01 | &
Al2[0|0]2|nEfE#E R02 30 4 [ R32.12.31 | BEZE | +vE| R02.01.01 [ R0O3.01.01 | #K
Al2]0|0]|2|EEERE RO3 30 4F [ R33.12.31 | BEZFE |KJFEF+vE| R03.01.01 [ R04.01.01 | &
Al2[0|0]2|nEfEE RO4 30 4 [ R34.12.31 | BEZE |JKF+vE| R04.01.01 [ R0O5.01.01 | #K
Al2(0|0]2|nEfEEHE RO5 30 45 | R35.12.31 | BEHE |KJE+rE| R05.01.01 | R06.01.01 | #&
Al3f1]0]2 %ﬁ‘?ﬁ%ﬁz%m#ﬁé% i RO5 1 4 [ R0O6.12.31 | BEHE |KMHF+vE| R05.01.01 [ R06.01.01 | #K
Al3l2]0]2|BEFzRE W BB TR A BEEE | EHERFYE R
Al4]0[1]0 ﬁ{%éaaﬁ%ﬁﬁwn‘*%i& i R05 1 4| R06.12.31 | BEZE [KJHE*+rE'| R05.01.01 | R06.01.01 [ #&




N ‘ Ar )& BE2ZRR
X E T A4 E B & 7 T B4
AlO| 1|06 |FIHEEHR HO06 30 4F | R13.12.31 | BEZE |FvExvb H14.01.01 | #%
A[0]| 1|06 |pIHEERE HO08 30 4 [ R13.12.31 | BEZE |FrE xvhb H14.01.01 | %
AlO| 1|06 |FIHEEHR H11 30 4F | R13.12.31 | BEZE |FvExvb H14.01.01 | #%
A[0]| 1|06 |pIHEERE H16 30 4 [ R16.12.31 | BEZE |FrE xvhb H17.01.01 | %
A0 1|01 6 |[fFFmEERH H19 30 45 | R19.12.31 | B |FrEFRvb H20.01.01 | %
AlO| 10 6 |FIHEERHR H20 30 4F [ R20.12.31 | BEZFE |F+¥Exvh H21.01.01 [ &
A[0]| 1|0 6 |FIHmERR H23 30 45 | R23.12.31 | BEHE |FrEFRvb H24.01.01 | %
AlO[ 106 |fFIHEERHR H24 30 % | R24.12.31 | BEFE |FrExrvh| H24.01.01 | H25.01.01 | #K
A[0]| 1|06 |FIHmERE H25 30 4% | R25.12.31 | BEHE |F ¥t xvh| H25.01.01 [ H26.01.01 [ &
AlO| 1|0 6 |fFIHEERHR H26 30 % | R26.12.31 | BEFE |FrE v H26.01.01 | H27.01.01 | #K
A[0] 106 |[fFIHmERE H30 30 4 [ R30.12.31 | BEHE |F vt +vh| H30.01.01 [ H31.01.01 | #K
A0 1[0} 8| —fximiEH RO1 5 4F | R06.12.31 | BEHE |F+vbE x>k H31.01.01 | R02.01.01 [ #K
A[O] 1|09 | —fimeEtk RO5 34 | R08.12.31 | PEFE |F+¥E %>k R05.01.01 | R06.01.01 [ %
AlO| 1|15 |[mmEnsERH R02 5 4F | R0O7.12.31 | BEFE |F+vbE x>k R02.01.01 | R03.01.01 [ #K
A[0]2]0: 8| EEkE RO3 34 | R06.12.31 | PBEFE |F+¥E x>k R03.01.01 | R04.01.01 [ %
Al0|2]0: 8 |FIEERE RO4 34| RO7.12.31 | BEHE |F+vExvh| R04.01.01 | R05.01.01 | #K
A0 2|0 8| E R R05 3 4E | R08.12.31 | BEZE |2+t %vh| R05.01.01 | R06.01.01 [ %
A[0]3]0: 1 |- HUsErHR RO3 3 4F | R06.12.31 | BEFE |*F+vExvh| R03.01.01 [ R04.01.01 | #&
Al0|3[0} 1 [E- B E B RO4 34| R07.12.31 | PBEFE |*F+¥E x>k R04.01.01 | R05.01.01 [ %
A[0]3]07 1 [k HUsErHH R05 3 4F | R08.12.31 | BEFE |*+vExvh| R05.01.01 [ R06.01.01 | #K
Al0[4]0: 1|=EBIMRE RO3 3 4F | R06.12.31 | BEHE |F vt xvh| R03.01.01 | R04.01.01 | #%




Al0] 4]0 1|&aEI%RE RO4 3 4E | R07.12.31 | BEZE [F+vE %ok R04.01.01 | R05.01.01 | &
Alo]4]0i1 4%55%14& RO5 3 4| R08.12.31 | BEFE |+t %>k R05.01.01 | R06.01.01 [ %
A|0|5]0: 2 |fhFEEIBIfRER RO3 3 4 | R06.12.31 | BEZE |FvE xvh| R03.01.01 [ R04.01.01 | &%
Al 0|50 2 |fhr%EaBEIfRER RO4 3 4E | R07.12.31 | EEZE |% ¥t %vh| R04.01.01 | R05.01.01 | #&%
A|0|5]0; 2[RI BIfRER R05 3 4 | R08.12.31 | BEZE |F vt xvh| R05.01.01 [ R06.01.01 | &%
Al 05|01} 3 [flurF Uk Fp R RO5 1 4 | R06.12.31 | BEHE [wwwm7 ey [ R0O5.01.01 | R06.01.01 | FE1-
A[0]7]0: 1 [Z%EH#E RO5 1 45 | R06.12.31 | BE#HE [wwwmv s [ R0O5.01.01 | R06.01.01 | FEF
Al0]9]0: 1 [EREIGERR H20 30 4 [ R20.12.31 | BEZE |Fvbxvb H21.01.01 | %
Al0|9|0} 1 [EREIEER H21 30 A5 | R21.12.31 | BB |FrEFRvb H22.01.01 | %
Al0[9]0: 1 [ERISER H22 30 4F [ R22.12.31 | BEFE |F+¥Exvh H23.01.01 [ #&
Al0|9|0: 1 [EREIEER H23 30 45 | R23.12.31 | BEHE |FrEFRvb H24.01.01 | %
Al0[9]0: 1 [EBISERH H24 30 % | R24.12.31 | BEFE |FrExrvh| H24.01.01 | H25.01.01 | #K
A[0]9]0: 1 [EERIGE R H25 30 4 [ R25.12.31 | BEHE |F vt %rvh| H25.01.01 [ H26.01.01 | #K
Al0|9|0} 1 [ERRIEEHR H26 30 4 | R26.12.31 | BEHE |F vt F*vh| H26.01.01 [ H27.01.01 | #K
A[0]9]0: 1 [EEIGE R H27 30 4 [ R27.12.31 | BEHE |F vt xvh| H27.01.01 [ H28.01.01 | #K
Al0]9]0: 1 [ R H28 30 4 [ R28.12.31 | BEHE |Frt %*vh| H28.01.01 [ H29.01.01 | #K
A[0]9]0: 1 [EEIGE R H29 30 4% [ R29.12.31 | BEHE |F vt xvh| H29.01.01 [ H30.01.01 | #K
Al0]9]0 1 [ERIERR H30 30 4 [ R30.12.31 | BEHE |F+rt %*vh| H30.01.01 [ H31.01.01 | #K
A[0]9]0: 1 [EEIGE R RO1 30 4F | R31.12.31 | FEZE |3+t %M H31.01.01 [ RO2.01.01 | #K
Al0]9]0 1 [ERIER R02 30 4 [ R32.12.31 | BEHE |F -+t %vh| R02.01.01 [ R03.01.01 [ &
A[0]9]0: 1 [EEIGE R RO3 30 4F | R33.12.31 | FEHE |3+t %xvh R03.01.01 [ R04.01.01 | #K




Al3|2]0: 3 |FEEIRHK RO3 3 4 | R06.12.31 | BEZE |FvE xvh| R03.01.01 [ R04.01.01 | &%
Al3]2]01 3 |FREEERMHK RO4 34| R07.12.31 | BEFE |+t %>k R04.01.01 | R05.01.01 [ %
Al3|2]0: 3 |FEEIRHK R05 3 4 | R08.12.31 | BEZE |F vt xvh| R05.01.01 [ R06.01.01 | &%
El2(0[0}1 | iEhazE e H12 30 4£ [ R13.12.31 | BEEE |Svb%vb H14.01.01 | %
El2(0]0 1 |®EmXEHES H13 30 4£ [ R13.12.31 | BEZE |Zvbxvb H14.01.01 [ %
El2(0[0] 1 |HEMEHES H14 30 4E | R14.12.31 | BEZE |Sevb%vb H15.01.01 | %
El2(0[0 1 |®EMEHES H15 30 45 | R15.12.31 | B |FrEFRob H16.01.01 | %
Ef2|0[0: 1 |FEMxEHA H16 30 4F | R16.12.31 | BEZE |F¥Exvh H17.01.01 [ #&
El2(0[0: 1 |®EMEHS H17 30 A5 | R17.12.31 | BE#E |FrEFRob H18.01.01 [ %
Ef2|0[0: 1 |EEMxEHA H18 30 4F [ R18.12.31 | BEZE |FvE b H19.01.01 [ &
El2(0[0! 1 |®EMEHES H19 30 45 | R19.12.31 | B |FrEFRvb H20.01.01 | %
Ef2|0[0: 1 |EEMxEHA H20 30 4F [ R20.12.31 | BEZE |F¥Exvh H21.01.01 [ &
El2(0[0] 1 |®EMREES H21 30 45 | R21.12.31 | B3 |FxERob H22.01.01 [ #&
E[2|0[0: 1 |EEMREHA H22 30 4F | R22.12.31 | BEZE |FvExvb H23.01.01 | &
El2(0[0 1 |®EMREES H23 30 45 | R23.12.31 | B |FrERob H24.01.01 [ #&
E[2|0[0: 1 |EEMEHA H24 30 4% | R24.12.31 | BEFE |FrExvh| H24.01.01 | H25.01.01 | #K
El2(0[0: 1 |®EMREES H25 30 4% | R25.12.31 | BEHE |F vt Fxvh| H25.01.01 [ H26.01.01 | #K
Ef2|0[0: 1 |EEMEHA H26 30 4% | R26.12.31 | BEFE |FrE v H26.01.01 | H27.01.01 | #K
El2(0[0! 1| EMaREHAHTE H27 30 4F | R27.12.31 | FEZE |3+t xvh H27.01.01 [ H28.01.01 | #K
Ef2|0[0: 1 |EEMEHA H28 30 47 [ R28.12.31 | BEZE |Fvb xvh| H28.01.01 | H29.01.01 | #&
El2(0[0] 1| iEMeREHAHTE H29 30 4F | R29.12.31 | FEZE |3+t %M H29.01.01 [ H30.01.01 | #K
El2(0]0 1|®EmREHGIR H30 30 4% | R30.12.31 | BEFE |Frtxvh| H30.01.01 | H31.01.01 | #X
El2(0]0 1|®EEREHEAIE RO1 30 42 | R31.12.31 | BEFE |+t xvh| H31.01.01 [ R02.01.01 | #%
El2(0]0 1|®EmREHGIR R02 30 A% | R32.12.31 | BEFE |F vt xvh| R02.01.01 | R03.01.01 | #X
El2(0[0: 1|8 iEhaREHEhgE RO3 30 4¢ [ R33.12.31 | BEZE |3+t %xvh| R03.01.01 [ R04.01.01 | #&%




El2(0[0 1| EhREHEHTE R04 30 45 | R34.12.31 | BEZFE |F+t *vh| R04.01.01 | R05.01.01 | #&%
El2(0[0:2 |8 iEhasE e H26 10 4% | R06.12.31 | BEFE [F+vExvh| H26.01.01 | H27.01.01 | #&
El2(0[0 2 |&EfaxEH g H27 10 45 | RO7.12.31 | BEFHE [F+rb xoh| H27.01.01 | H28.01.01 | #&
El2(0[0 2| iEhazE e H28 10 4% | R08.12.31 | BEFE [F+vE %k H28.01.01 | H29.01.01 | #&
El2(0[02|&EhaxEH g H29 10 45 | R09.12.31 | BEFHE [Frb Fxoh| H29.01.01 | H30.01.01 | #&%
El2(0[02 |8 iEhazE e H30 10 4% | R10.12.31 | BEZE [F+vE x>k H30.01.01 | H31.01.01 | #&
E|12]0]0 2 |HEMZREHEGR RO1 10 4 | R11.12.31 | BEZFE [F+vE x>k H31.01.01 | R02.01.01 | #&
El2(0]|0 2|®EMREHGIR RO2 10 4F [ R12.12.31 | BE3E |*F+vExrvh| R02.01.01 [ R03.01.01 | &
E|12]0]|0 2 |HEMZREHEGIK RO3 10 4% | R13.12.31 | BEZFE [F+vE x>k R03.01.01 | R04.01.01 | #&
El2(0]|0 2|®EMREHGIR R05 10 4F [ R15.12.31 | BE3E |*F+vExrvh| R05.01.01 [ R06.01.01 | &
E|12]0]0; 3| HEHEYEEAERK RO3 34| R06.12.31 | BEZFE [F+vE x>k R03.01.01 | R04.01.01 | #&
E|2(0[0 3|8 @Y T %4 K RO4 34| RO7.12.31 | BEFE |FvExvh| R04.01.01 | R05.01.01 | #K
E12]0[0: 3| B EAH Y EHA EX RO5 34 | R08.12.31 | PEFE |F+¥E %>k R05.01.01 | R06.01.01 [ %
E{2[0]|0:5 | ERIRRE RO1 5 4F | R06.12.31 | BEHE |F+vbE x>k H31.01.01 | R02.01.01 [ #K
El2[0|0:5|&EREGRE R02 54 | R07.12.31 | PBEFE |*F+¥E %>k R02.01.01 | R03.01.01 [ %
E{2(0]0:5 | ERIRRE RO3 5 4F | R08.12.31 | BEZHE |F+vE x>k R03.01.01 | R04.01.01 [ #K
El2[0|0:5|&EREGRE R05 54 | R10.12.31 | BEFE |F+¥E %>k R05.01.01 | R06.01.01 [ %
E[2[0]| 06| ERIRRE RO3 3 4F | R06.12.31 | BEHE |F+vE x>k R03.01.01 | R04.01.01 [ #K
El2(0|0:6|%ERHRE RO4 3 4E | R07.12.31 | BEZE |2+¥t %vh| R04.01.01 | R05.01.01 [ %
E|l2(0|0:6|%ERHRE RO5 3 45 | R08.12.31 | BEFE [+t *vk| R05.01.01 | R06.01.01 | #&
El2(0|0:7|%ERGRE RO5 1 4£ [ R06.12.31 | BEHE |¥%+t xvh| R05.01.01 [ R06.01.01 | #&%
E|l2|0|08 | itz 75 -tz iE = B iR RO3 3 4| R06.12.31 | BEZE [F+vE %>k R03.01.01 | R04.01.01 | #&
E|l2|0|08 ik 5 - sk iE = Bk RO4 3 4E | R07.12.31 | BEZE |2+¥t %vh| R04.01.01 | R05.01.01 [ %
E|l2|0|08 | itz 75 - itiskiE = B ik RO5 3 4 | R08.12.31 | PBEIE |+t %>k R05.01.01 | R06.01.01 [ %
El2[0[0:9|fE&HEIR RO3 3 4E | R06.12.31 | BEZE |2+¥t %>k R03.01.01 | R04.01.01 [ %




E|l2[0]0 9|fE&KIHABIR R04 3 4 | R07.12.31 | BEZE |FvE xvh| R04.01.01 [ R05.01.01 | &%
El2[0[0:9|fE&HEEMR R05 3 4| R08.12.31 | BEHE |FvExvh| R05.01.01 | R06.01.01 | #K
El2[0] 1 0| EEFHLBEIR RO1 5 4F | R06.12.31 | BEZE |F+vE %xrh| H31.01.01 | R02.01.01 | #&
El2]0|1:0|#kpEEEFHLBER R02 54 | R07.12.31 | BEFE |FvExrvh| R02.01.01 | R03.01.01 | #K
El2[0] 1 0|k EEFHLBEIR RO3 5 4F | R08.12.31 | BEZE |F+vE %xrh| R03.01.01 | R04.01.01 | #&
El2]0|1]0|#kEEEFHLBER RO4 54 | R09.12.31 | BEFE |FvExrvh| R04.01.01 | R05.01.01 | #K
El2(0]1 0|k iEEFHLBIR R05 54 | R10.12.31 | BEZFE [F+vE x>k R05.01.01 | R06.01.01 | #&
E[2]0|1:5|#aHx (&%) R05 1 % | R06.12.31 | BEZE [FrE>xvhH R05.01.01 | R06.01.01 | K
El2|0|1]6|&it¥iER RO5 1 45 | R06.12.31 | BE#HE [wwwmv s [ R0O5.01.01 | R06.01.01 | FEF
El2[0 19| ExRR% RO5 1 4F | R06.12.31 | BEZHE [F+E 3| R05.01.01 | R06.01.01 | #&
El2(0]4 4|F&EIZE(EiERR) RO3 3 4F | R06.12.31 | BEZE |F+vE xvh| R03.01.01 [ R04.01.01 | #&
El2lo|4] 4 |Remzes (EERIR) RO4 34| RO7.12.31 | BEFE |FvExvh| R04.01.01 | R05.01.01 | #K
El2(0]4 4|F&EIZHE(EiERR) R05 34 | R08.12.31 | PEFE |F+¥E %>k R05.01.01 | R06.01.01 [ %
El2(0[4§9|/MRH7EIFRE RO1 54| R06.12.31 | BEIE |+t %>k H31.01.01 | R02.01.01 [ &
El2[04§9 | ARARHZEIFRE R02 54 | R07.12.31 | PBEFE |*F+¥E %>k R02.01.01 | R03.01.01 [ %
El2(0[4§9|/MRH7EIMRE RO3 54 | R08.12.31 | BEIE |+t %>k R03.01.01 | R0O4.01.01 [ &
El2(0[4:9 | ARARHZEIFRE R05 54 | R10.12.31 | BEFE |F+¥E %>k R05.01.01 | R06.01.01 [ %
El2(0]5 0|XAIFTABEMHRR RO1 5 4F | R06.12.31 | BEHE |FvExvh| H31.01.01| R02.01.01 | #K
El2lo|50|AI4T2ERE R02 5 4E | R07.12.31 | BEZE |2+¥t %>k R02.01.01 | R03.01.01 [ %
E[2]|0|5:0|HIATZBIRE RO3 5 4F | R08.12.31 | BEZFE |F+vbExvh| R03.01.01 | R04.01.01 | #&
E[2]0[5: 0T 2 BEfRER R04 5 4F | R09.12.31 | BEZFE |F+vE %>k R04.01.01 | R05.01.01 [ #K
E[2]|0|5:0|HIAT2BEfREE R05 5 4F | R10.12.31 | BE3FE |FvbE x>k R05.01.01 | R06.01.01 | #&
El2(0]5 5 |HEMNHRBRSHE R0O5 1 4£ [ R06.12.31 | BEHE |¥rt x| R05.01.01 [ R06.01.01 | #&%
E|l2(0]5 6| ElEHaekms RO4 2 fF | R06.12.31 | BEFE |*F+vExrvh| R04.01.01 [ R05.01.01 | #&
El2(0]5 6|RFEfhfsski R05 2 £ | R07.12.31 | BEHE |F+¥t xvh| R05.01.01 | R06.01.01 | #&%




- YERL PRAFIIR | T %% aoe | AV | BRI | SR
] v g | W SR (o | RORIT en | owsa |
E{2]1]0: 1|55 mBIM% RO5 1 4£ | R06.12.31 | FEZE [F+¥txvh| R05.01.01 | R06.01.01 | #%




. ‘ AT & 5
LET A R S s B R
Alofo|o: 1A% S58 30 45 | R13.12.31 | BEZE | SCEAE H14.01.01 [ %
Al0|0]|0: 1 |[iES# S59 30 45 | R13.12.31 | BEZE |SCERTE H14.01.01 | #&
Alofo|o: 1A% S60 30 45 | R13.12.31 | BEZE | SCEAE H14.01.01 [ %
Al0|0]|0: 1 |[iES# S61 30 45 | R13.12.31 | BEZE |SCERTE H14.01.01 | #&
Alofo|0: 1Ak S62 30 4= | R13.12.31 | BEZE | SCEAE H14.01.01 [ %
Alo|o]o0: 1 |[ES#H S63 30 45 | R13.12.31 | BEZE |SCERTE H14.01.01 | #&
Alofo|0 1|k HO04 30 4= | R13.12.31 | BEZE | SCEAE H14.01.01 [ %
Alo|o]|o0: 1 |[ES#H HO06 30 45 | R13.12.31 | BEZE |SCERTE H14.01.01 | #&
Alofo|0: 1Ak HO8 30 45 | R13.12.31 | BEZE | SCEAHE H14.01.01 [ %
Alo|o|0: 1 |[EES#H H1l 30 45 | R13.12.31 | BEZE |SCERTE H14.01.01 | #&
Al0|0]|0} 1 |Ea H12 30 45 | R13.12.31 | BEZE |SCEATE H14.01.01 | %
Alofo|o: 1A% H13 30 4 [ R13.12.31 | BE3E |SCEAE H14.01.01 | %
Alofo|oi1|EARE H14 30 ¢ | R14.12.31 | FE%E |SCEAJE H15.01.01 [ #%
Alofo|o: 1 |iEaH% H15 30 4 [ R15.12.31 | BE3E |SCEAE H16.01.01 | %
Al0|0]| 0} 1 |Ea H16 30 45 | R16.12.31 | BEZE |SCEATE H17.01.01 | %
Alofo|o: 1 |iEAH% H17 30 4 [ R17.12.31 | BE3E |SCEAE H18.01.01 | %
Alofo]o:1|iEnk H18 30 45 | R18.12.31 | BEsE | SCEAE H19.01.01 [ #%
Alo|o]o: 1S H19 30 45 | R19.12.31 | BEZE |SCERTE H20.01.01 | &%
Alofo]o:1|iEnkk H20 30 45 | R20.12.31 | BE3E |SCEAE H21.01.01 [ #%
Alo|oo: 1S H21 30 45 | R21.12.31 | BEZE |SCERATE H22.01.01 | #&%
Al0]0]|0] 2| ECER S57 30 48 | R13.12.31 | BB |SCEATE H14.01.01 | %
Al0[0|0 2|4 ER S60 30 45 | R13.12.31 | BEZE |SCERATE H14.01.01 | %




Al0[0|0 2 |&ECER S61 30 4F | R13.12.31 | BEdE |SCEAJE H14.01.01| #&
Al0| 0|0} 2| EECER S62 30 45 | R13.12.31 | BEZE |SCERTE H14.01.01 | #&
Al0[0|0 2 |&ECER S63 30 4F | R13.12.31 | BEdE |SCEAJE H14.01.01| #&
Al0| 0|0} 2| EECER Ho1 30 45 | R13.12.31 | BEZE |SCERTE H14.01.01 | #&
Al0[0|0: 2 |&ECER HO4 30 4F | R13.12.31 | BEdE |SCEAJE H14.01.01| #&
Al0]|0]0; 2| EECER HO5 30 45 | R13.12.31 | BEZE |SCERTE H14.01.01 | #&
A[0]0]|0: 2 |HEECER HO06 30 4= | R13.12.31 | BEZE | SCEAE H14.01.01 [ %
Al0[0|0 2|4 ER HO7 30 45 | R13.12.31 | BEZE |SCERTE H14.01.01 | #&
A[0]0|0 2 |FEECER HO8 30 4= | R13.12.31 | BEZE | SCEAE H14.01.01 [ %
Al0[0|0 2|4 ER H1l 30 45 | R13.12.31 | BEZE |SCERTE H14.01.01 | #&
A[0]0]0: 2 |FEESCER H12 30 45 | R13.12.31 | BEZE | SCEAHE H14.01.01 [ %
Al0[0|0: 2|4 ER H13 30 45 | R13.12.31 | BEZE |SCERTE H14.01.01 | #&
Al0[0]02|5EEscEH H14 30 45 | R14.12.31 | BEZE |SCEATE H15.01.01 | %
Al0[0|0: 2|4 ER H15 30 45 | R15.12.31 | BEZE |SCERRE H16.01.01 | %
Al0[0]0] 2 |5EEscEH H16 30 45 | R16.12.31 | BEZE |SCEATE H17.01.01 | %
Al0[0|0 2| ER H17 30 45 | R17.12.31 | BEZE |SCERE H18.01.01 | %
Al0[0]0] 2 |5EEscEH H18 30 45 | R18.12.31 | BEZE |SCEATE H19.01.01 | %
Al0[0|0 2|4 ER H19 30 45 | R19.12.31 | BEZE |SCERE H20.01.01 | %
A[0]0]|0: 2B EECER H20 30 45 | R20.12.31 | BE3E |SCEAE H21.01.01 [ #%
Al0| 0|0} 2| CERK H21 30 4F | R21.12.31 | BEZE |SCEAJE H22.01.01 | #&%
Al0]0]| 0} 2| ECERK H22 30 4£ | R22.12.31 | BB |SCEATE H23.01.01 | #&
A[0]0]0: 2| CER H30 30 4F | R30.12.31 | BEZE |w#-mgsvr| H30.01.01 | H31.01.01 | #%
A[0]0]0: 2 |mEECER RO1 30 4F | R31.12.31 | BEZE |ww-maxve| H31.01.01 | R02.01.01 | #&
A[0]0|0 2| CER R02 30 4E | R32.12.31 | B |awms-mzeve| R02.01.01 | RO3.01.01 | #%




A[0]0]0: 2| ECER RO3 30 4F | R33.12.31 | BEFE |wms-mzrve | RO3.01.01 | R04.01.01 | #%
Al0[0|0: 2 |BECER RO4 30 4E | R34.12.31 | FgZE |ws-maecre | R04.01.01 [ R0O5.01.01 | %%
A[0]0]0: 2| EECER R05 30 4F | R35.12.31 | BEFE |wms-mzrve | R05.01.01 | R06.01.01 | #%
A[O] 1|0 1| AT X\ESER S29 30 45 | R13.12.31 | BEHE |- mmerre H14.01.01 [ #&
A[O]1]0: 1 |ARTE KiaEERE S37 30 4F | R13.12.31 | BEZE |ws-moserr H14.01.01 | #%
A[O] 1[0} 1 |ARITEXmESER HO5 30 45 | R13.12.31 | BEHE |- mmerre H14.01.01 [ #&
A0 1[0 1 |ATE KB EERHK HO7 30 4F | R13.12.31 | BEHE |wms-mamerve H14.01.01 | &
A[O]1]0: 1 |ARTE XiAESERE HO8 30 45 | R13.12.31 | BEHE |- wsmerre H14.01.01 [ #&
A0 1[0} 1 |ARTE KB ESERH H10 30 4F | R13.12.31 | BEHE |wms-mamerve H14.01.01 | &
A[O]1]0: 1 |ARTE XiAESERE H11 30 45 | R13.12.31 | BEIHE |- ssmerve H14.01.01 [ #&
A0 1[0} 1 |ATE KB EERHK H12 30 4F [ R13.12.31 | BEFE |wis-mssere H14.01.01 | #&
A[O]1]0: 1 |ARTHE XiAESRE H13 30 45 | R13.12.31 | BEZE |mis-ssrve H14.01.01 [ #&
A0 1[0} 1 |ATE KB EEH H14 30 A5 | R14.12.31 | BEHE |wss-mmerve H15.01.01 | &
A[O0]1]0: 1 |ARTE XiAESERE H16 30 45 | R16.12.31 | BEHE |- mmerre H17.01.01 | &
A0 1[0 1 |ATE XdEEH H24 30 4F | R24.12.31 | BE%E |wss-mseeve | H24.01.01 [ H25.01.01 | #%
A[O]1]0: 1 |ARTE XiAESERE H25 30 4F | R25.12.31 | BEFE |wss-mzxevr| H25.01.01 [ H26.01.01 | &
A0 1[0 1 |ATFE XdEEH H26 30 4F | R26.12.31 | FE%E |wss-mseeve | H26.01.01 [ H27.01.01 | #%
A[O]1]00 1 |ARTE XA H27 30 4F | R27.12.31 | BEZE |wss-mzerr| H27.01.01 [ H28.01.01 | &
A[O] 1|01 |AR)TE X\ SR H28 30 4F | R28.12.31 | FEZE |wm-mzeve| H28.01.01 [ H29.01.01 | %
A[O]1]0: 1 |ARTE Xi\ESERE H29 30 4F | R29.12.31 | BEZE |w#-mgsve| H29.01.01 | H30.01.01 |  #%
A0 1[0 2 |A&THE X\ EEH H26 10 4F | R06.12.31 | BE#E [m#-mzerve| H26.01.01 | H27.01.01 | #%
A[0]1]0: 2 |ARTE KiAESERE H27 10 47 | RO7.12.31 | BESE |m#s-maesre | H27.01.01 | H28.01.01 |  #%
A0 1[0 2 |ATFE KB EEH H28 10 45 | R08.12.31 | BEZE [m#s-mzer+r| H28.01.01 | H29.01.01 | #&
A[0] 1|0} 2| AT XEESR H29 10 4F [ R09.12.31 | BEFE |m#-mgxrr | H29.01.01 [ H30.01.01 | %
A0 1[0 2 |ARTE XdESH H30 10 4% | R10.12.31 | BEZE [m#-mzsve| H30.01.01 | H31.01.01 | #&




Alo|1]0i2 RO1 10 45 | R11.12.31 | BEZE |ws-mzsvr| H31.01.01 | R02.01.01 | &
Alo|1]0i2 RO2 10 46 | R12.12.31 | BEZE |ws-wsere| R02.01.01 [ RO3.01.01 | #%
Alo|1]0i2 RO3 10 4E | R13.12.31 | BEZE |ws-mzsvr| R03.01.01 | R04.01.01 | &
Alo|1]0i2 RO4 10 46 | R14.12.31 | BEZE |ws-wsere| R04.01.01 [ R05.01.01 |  #%
Alo|1]0i2 RO5 10 4E | R15.12.31 | BEZE |w%-mzsvr| R05.01.01 | R06.01.01 | &
Alo|1]0i3 RO1 5 4 | R06.12.31 | BEZE |ws-weserve| H31.01.01 | R02.01.01 | #%
Al0|1[0:3 R0O2 54 [ RO7.12.31 | g3 [ww-mserre| R02.01.01 | R03.01.01 | #%
Alo|1]0i3 RO3 54 [ R08.12.31 | BEHE [mss-msrrr | R03.01.01 [ R04.01.01 | #%
Al0|1[0:3 R04 54 [ R09.12.31 | Fg#E [w#-mserre| R04.01.01 | R05.01.01 | #%
Alo|1]0i3 RO5 54F [ R10.12.31 | BEHE [mss-msrre | R05.01.01 [ R06.01.01 | #%
Alo|1]0:4 RO3 34 [ R06.12.31 | g3 [ww-mserre| R03.01.01 | R0O4.01.01 | #%
Alo|1]0:4 RO4 34 [ RO7.12.31 | BEZE |w#-mzrve| R04.01.01 [ R05.01.01 | #%
Alo|1]0:4 RO5 34 [ R08.12.31 | Fg#E [m#-marre| R05.01.01 [ R06.01.01 |  #&
Alof1]0i6 $38 30 4 [ R13.12.31 | BE3E |SCEAE H14.01.01 | %
Alof1]0:i6 S42 30 45 | R13.12.31 | BEZE |SCEATE H14.01.01 | %
Alof1]0i6 S43 30 4 [ R13.12.31 | BE3E |SCEAE H14.01.01 | %
Alof1]{0i6 S44 30 45 | R13.12.31 | BEZE |SCEATE H14.01.01 | %
Alof1]0i6 S45 30 4 [ R13.12.31 | BE3E |SCEAE H14.01.01 | %
Alo|1]0i6 WJ%E‘ j f;;% S46 30 4£ | R13.12.31 | BB |SCEATE H14.01.01 | &
Alo|1]0i6 547 30 45 | R13.12.31 | BEZE |SCERATE H14.01.01 | &%
Al0]1[0 6 S49 30 45 | R13.12.31 | BEsE | SCEAE H14.01.01 [ #%
Alo|1]0i6 S50 30 45 | R13.12.31 | BEZE |SCERATE H14.01.01 | &%
Alo|1|0:6 S51 30 45 | R13.12.31 | BE3E |SCERE H14.01.01 | #&
Alo|1]0i6 S52 30 45 | R13.12.31 | BEZE |SCERATE H14.01.01 | %
Alo|1]0i6 S53 30 4F | R13.12.31 | BEZE |SCERTE H14.01.01 | #&




A[0] 1|06 |fFIkmER S55 30 45 | R13.12.31 | BEZE | SCEAE H14.01.01 [ %
Al0| 10} 6 |FIHEERR S57 30 45 | R13.12.31 | BEZE |SCERTE H14.01.01 | #&
A0 1]0:6|fFIEEER S61 30 4F | R13.12.31 | BE3E | SCEAJHE H14.01.01 | #%
Al0| 10} 6 |FIHEERR S62 30 45 | R13.12.31 | BEZE |SCERTE H14.01.01 | #&
A[0] 1|06 |fFIkmER S63 30 45 | R13.12.31 | BEZE | SCEAE H14.01.01 [ %
Al0| 10} 6 |FIHEERR H02 30 45 | R13.12.31 | BEZE |SCERTE H14.01.01 | #&
A[0] 1|0} 6| EER HO04 30 4= | R13.12.31 | BEZE | SCEAE H14.01.01 [ %
AlO0|1]0} 6B EERR HO5 30 45 | R13.12.31 | BEZE |SCERTE H14.01.01 | #&
AlO0| 1|0 6|fFIHELEER HO7 30 4= | R13.12.31 | BEZE | SCEAE H14.01.01 [ %
Al0|1]0} 6B @R Ho8 30 45 | R13.12.31 | BEZE |SCERTE H14.01.01 | #&
AlO0| 1|0 6|fFIELEER H09 30 45 | R13.12.31 | BEZE | SCEAHE H14.01.01 [ %
Al0| 10} 6 |FIEERK H10 30 45 | R13.12.31 | BEZE |SCERTE H14.01.01 | #&
Al 0| 1]0] 6 |FIxmER H12 30 4F | R13.12.31 | PBEHE [SrEAE H14.01.01 | #&
AlO[ 1|0 6|fFIELEER H14 30 45 | R14.12.31 | BEZE |SCERE H15.01.01 | %
Al0[1]0 6 |fFIHEERH H16 30 45 | R16.12.31 | BEZE |SCEATE H17.01.01 | %
AlO0[ 1|0 6|fFIELEER H17 30 4 [ R17.12.31 | BE3E |SCEAE H18.01.01 | %
AlO0[1]0] 6 |fFIHmEERH H18 30 4F | R18.12.31 | BEHE |whs-msserr H19.01.01| &
Al0| 1|0 6|pIHmER H19 30 4F [ R19.12.31 | BEIE |ws-mdxrr H20.01.01 | #&
A0 1]0: 6 |fFIHEERE H21 30 4F | R21.12.31 | BEIE |mis-msrar H22.01.01 | %&
Al0| 1|0 6|pIHEER H22 30 4F [ R22.12.31 | BEIE |ws-mixer H23.01.01 | #&
Al0| 1|06 |FIHmEER H23 30 4 | R23.12.31 | BB |ws-mgsvr H24.01.01 | %%
A0 1]0:6 | E=ER H24 30 4E | R24.12.31 | B |awms-mzmeve | H24.01.01 | H25.01.01 | #%
A0 1]0:6|fFIHEEE H25 30 4F | R25.12.31 | BEZE |wws-maxre| H25.01.01 | H26.01.01 |  #&
A0 1]0:6 |l EER H26 30 4E | R26.12.31 | BEHE |mms-mzmeve | H26.01.01 | H27.01.01 | #%
AlO0[ 1|0 6 |FIEEER H27 30 4F | R27.12.31 | BEZE |wms-wserve| H27.01.01 | H28.01.01 | #%




A0 1]0:6 |fFIHEER H28 30 4F | R28.12.31 | BEFE |wm-msexvr| H28.01.01 | H29.01.01 | #E
AlO[ 1|0 6|fFIHELEER H29 30 4E | R29.12.31 | BgZE |wis-maeere | 129.01.01 | H30.01.01 | &%
A0 1]0:6 |fFIHEER RO1 30 4F | R31.12.31 | BEFE |wm-msx+r| H31.01.01 | R02.01.01 | #E
AlO[ 1|0 6|fFIELEER R0O2 30 4E | R32.12.31 | FgZE |ws-maeve | R02.01.01 [ RO3.01.01 | %%
A0 1]0:6 |fFIHEER RO3 30 4F | R33.12.31 | BEFE |wm-mgx+r| R03.01.01 | R04.01.01 | %
AlO[ 1|0 6|fFIHELEER RO4 30 4E | R34.12.31 | FgZE |ws-mserve | R04.01.01 [ R0O5.01.01 | %%
A[0] 1|0} 6| EER RO5 30 4E | R35.12.31 | BEZE |wss-mssvr| RO5.01.01 [ R06.01.01 | %%
A[0] 1|07 |fFIHEER H27 10 4E | R07.12.31 | BEZE |m#-meeerr | H27.01.01 [ H28.01.01 |  #%
A0 1]0: 7 |fFIHLEER H28 10 4F | R08.12.31 | BEZE |m#s-mzerre | H28.01.01 [ H29.01.01 | %
A[0] 1|07 |fFIHEER H29 10 4E | R09.12.31 | BEZE |m#-meerrr | H29.01.01 [ H30.01.01 | #%
A[0] 1|07 |FIRmERH H30 10 4F | R10.12.31 | BEFE |ww-mzrve| H30.01.01 [ H31.01.01 | #K
A[0] 1|07 |fFIHEER RO1 10 45 [ R11.12.31 | BEZE |m#-msexrr | H31.01.01 [ R02.01.01 | &
A[0|1]0: 7| EER R02 10 4E | R12.12.31 | BE3sE [m#-mzmrve| R02.01.01 | RO3.01.01 | #%
A0 1|07 |fFIHEER RO3 10 4F | R13.12.31 | FE3E |w#-mzx+e| R03.01.01 | R04.01.01 | %%
A[0|1]0: 7 |fFIHEER R04 10 4E | R14.12.31 | BE3E [m#s-msrve| R04.01.01 | R05.01.01 | #%
A[0] 1|07 |fFIHEER R05 10 47 | R15.12.31 | B |e#-mieeve | R05.01.01 | R06.01.01 | #%
A[0] 1|08 | —fkimeER H29 54 | R04.12.31 | BEZE |m#s-mzesvr| H29.01.01 | H30.01.01 [ #%
A[0] 1|08 |—fimER RO1 5 4F | R06.12.31 | BEFE |ews-masre | H31.01.01 | R02.01.01 |  #%
AlO| 1|08 —MximiER R02 5 4 | R07.12.31 | BEZE |e#-mesrvr| R02.01.01 [ R03.01.01 | %
AlO[ 1|0 8| —imEH RO3 5 4F | R08.12.31 | BEZE |w#-mzx+e| R03.01.01 [ R04.01.01 | %%
AlO| 1|08 —MximiER R04 5 4| R09.12.31 | BEZE |e#-merrr| R04.01.01 [ RO5.01.01 | %
AlO[ 1|0 8| —imEH R05 54F | R10.12.31 | BEZE |e#-msxre| R05.01.01 [ R06.01.01 | %
A[0|1]0: 9| —fikEERE RO3 3 4E | R06.12.31 | FE=E |e#-mas+r| R03.01.01 | R04.01.01 | #%
AlO| 1|15 m@En%siz RO1 5 4F | R06.12.31 | BEZE |w#s-msxre| H31.01.01 [ R02.01.01 | %%
A0 1] 15 [imEZEHR RO2 5 4| R07.12.31 | BEZE |e#-mzxre| R02.01.01 [ R03.01.01 |  #K




Al0| 1] 15 @rnsei R04 54| R09.12.31 | BE3E |a#-mezrre| R04.01.01 | R0O5.01.01 | #&
A0 1] 15 imEEHHR R05 5 4F | R10.12.31 | JBEZE |a#s-mssvr| R05.01.01 | R06.01.01 [ #%
Al0|1]1:6[mrnsein H29 34| R02.12.31 | BE3E |e#-msrre| H29.01.01 [ H30.01.01 |  #&
AlOf 1|1 6@k RO3 3 4E | R06.12.31 | BEIE |w#s-wzs+r| R03.01.01 | R04.01.01 [ %
Al0| 1] 16 m@rnsin R04 34| R07.12.31 | BE3E |e#-mszrre| R04.01.01 | R0O5.01.01 | #&
AlO| 1| 1:6|@mEmE R05 3 4| R08.12.31 | BEFE |e#s-mzrve| R05.01.01 [ R06.01.01 |  #E
AlO| 1] 117 @rnssin R05 1 4F | R06.12.31 | JBEFE [ws-msvc| R05.01.01 | R06.01.01 [ %
Al0]2]0:6|3ET7AVEHTE fiAF BT i G 7L A FE R R g

A0 2] 12| HRBILHE R RO3 3 4E | R06.12.31 | BEZE |e#s-meg+r| R03.01.01 | R04.01.01 | &%
A0 2] 10 2|7 BIEHE S RO4 3 4E | R07.12.31 | FEZE |e#s-mzesvr| R04.01.01 | R05.01.01 | %%
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E| 1| 1]|0]5 P& (AFERE) UK ET 4 BEFE R FrE HE
E[1]|1]0]6|thiEHRE(LREEE) WA ET 4 I (Rt Ht
E[1] 1] 0|7 [Ehifahe GRI%E &%) HH T ET G BEHE | RKFEFrE e




AT & 5
X E 7940V E HE Py TR S5
A[1]|0] 1|0 HENE(HFEEE) RO1 54 | R06.12.31 | BEZE |mmwsvexor| H31.01.01 [ R02.01.01 | %%
Al1[O|1]0]|HEn#E (HAFEEE) R02 54 | R07.12.31 | BEZE |mswcvesor| R02.01.01 | R03.01.01 [ &
AlL1[O|1]0]|MHEh#E (HFEZEER) RO3 545 | R08.12.31 | BEZE |[mmterrewor| R03.01.01 | R0O4.01.01 | %
Al1[O|1]0]|HEn#E (HAFEEE) RO4 5 4 | R09.12.31 | BEFE |msswexreior[ R0O4.01.01 | R05.01.01 | #K
Al1[{O|1]0]|HEh#E (HFEEE) R05 5 4F | R10.12.31 | BEZE |mssvexor| R05.01.01 [ R06.01.01 | %
Al 10| 1|23k B OEEEM TEEE) RO1 5 4F | R06.12.31 | BEHE |mmsexreor [ H31.01.01 | R02.01.01 | #%
Al 1[0 1] 2 KB OIREFEH GTEEE) RO3 5 4F | R08.12.31 | BEHE |mmwsvexoh| R03.01.01 [ R04.01.01 | &%
Al1]0]| 1|3 |FRIRE (M%) RO1 54 | R06.12.31 | BEZE |mmswevesor | H31.01.01 | R02.01.01 [ %
Al 1[0 1] 3 |IREfHE (M EEE) R02 54 | R07.12.31 | BEZE |mmssvexor| R02.01.01 [ R03.01.01 | &%
Al 1[0 1] 3 |IRME (M) RO3 5 4 | R08.12.31 | BEIE |mmwrvesor| R03.01.01 | R0O4.01.01 [ %
Al 1| 0] 1| 3 IR (M55 E) R04 5 4E | R09.12.31 | PEIE |msswrresor| R04.01.01 | R05.01.01 [ %
Al 1[0 1] 3 |IARRS#E (M) RO5 5 4F [ R10.12.31 | BEHE [mmwrresor| R05.01.01 [ R06.01.01 | #%




